Project from www.craftsmanspace.com Lager seating set plan Page 1 of 35

Lager seating set plan

This is a plan by which you can make a lager seating set. We call it ‘lager’ because seating sets like
this one are often found in ‘beer houses’ - pubs. In the picture you can see that it is a simple but solid
construction that may last for decades. According to this plan you will be able to make table and a
bench, and if you want to, add some chairs by simply lowering the width of the bench. On our site
there is another plan for making a similar seating set, and you can find it by clicking on the
following link: Beer seating set plan

Such seating sets are typical not only for pubs and taverns, but also yards, gardens and parks. They
are mainly used indoors, and if good quality timber is properly protected against weather impacts,
they are suitable for outdoor use, too. This seating set is not easy to make, but certainly not too
complicated, so do not feel discouraged. In order to adjust its making to suit the skills of amateur
woodworkers, we have tried to avoid the use of woodworking joints wherever possible, so that
fasteners are mostly used as joints between the parts. We have also tried to design the parts to be of
simple shape, except for the leg parts that are curved to make them look more attractive. With the jig
saw power tool, which is a very common power tool in amateur workshops, there will be no trouble
to make the parts mentioned.

You can easily adjust the dimensions of the table and the bench to your requirements. For
comfortable sitting at the table, a width of 650 to 750 mm (minimum 600mm) is needed for a person
of average size. The following are useful figures if you want to customize the seating set:

- for 4, 6 or 8 persons;

- for persons of height and weight above or below average.

The seating set based on our plan is meant for 6 people. Also, the tabletop is large enough to have a
set of dishes (Casual place sitting) in front of each seat. Within the plan, you can see all the required
dimensions of the parts and assemblies, a parts list and an exploded view, so it is almost certain that
no major problems should occur in the process of making this nice but also durable seating set.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 2 of 35

Sub-assembly list

[tem
Number

Title

Quantity

1

2



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan Page 3 of 35

Table - Parts list

Item Title Material | Quantity | Cafegory
Number

1 [Table Top Plank Wood 6

2 |Table Support Mirror Wood 1

3 |Bolt M8x150mm Steel 4 Standard Part
4 |Washer 8 Steel 12 |Standard Part
5 |Lock washer A8 Steel 12 |Standard Part
6  |Hexagon Nut M8 Steel 12 |Standard Part
7 |leg2 Wood 2

8 |[leg1 Wood 4

9 [Bolt M8x110mm Steel b Standard Part
10 [Wood ScrewD4,5x80mm Steel 38 Standard Part
1 |Wood Screw D4.5x55mm Steel 8 Standard Part
12 |Table Support Wood il

13 |Leg Support 2 Wood 1

1t |Leg Support 1 Wood 1

15 |Bolt MBx130mm Steel b Standard Part



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 4 of 35

Assembly drawing

1800

(70,87
!
- o | | | e _a
o ; N
] F= H | F— -~
: 2
1 oS
i =
i o] o f
% .l | . -
0 ©) — H
35 s T A
oM H
b ||
AN 1
L) L | " 4
w_ n,: ””””””””””””””””” T L,”’”",J,
N2 ol
e ¥ | [* e
i ~
250 0o
(9,84 N
O
140
| 5,51 ) . G
( i ' B (PR P i I .
=t | F=4 e o[ | e ol
- | RN
|
|
] |
o | 7 )
QI:?’“ E=3--F=§ | @///
no, 7
NN |
|
|
| . .
58 52)
e ——— e —— riviel o0 ’ < %
[/r T T I T ‘bo;‘ N P s
L | L
690
1020 120 27
(4016 | (472 (10,63 | 27,184



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 5 of 35

1800
- | 70,87 | _
‘ < y
) ~
Q
e S
°N
8= - — — -
L0
N / <
o NV
Q'\Q

1. Table Top Plank

40
. 1,57 )



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 6 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 7 of 35

710
(27,95 )
18
(0,71
64 400 o
(2,52 ) (15,75 ) =~
L lle)
Py
2] r
S
O
40
(1,57 )
- Dy
05 Q\y\'b‘b
(3t
33 ®
{ t2)598 ) ¢
H Z. ;
6\70‘00
Z
&/
g o
36 gY | %
s L . .
- ® o Orill holes during assemblage
L
</ | 50
9. nY
32 |L197) \ %A ; Leg 2
v | |



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 8 of 35

40
(1,57 )

710
(27,95 )
18
(0,71}
=~
Ll le]
o
100
32 64 400
- (2,52) (15,75 )
550
o5 N2
B ¢
50 ‘bg":"’\ ? >
(1,97 & o,
{90
25 &
10,98,
@
0"
(3] o 5
82 5 RXS - -
= e o N Orill holes during assemblage
koY
o Sy
3 | 50 :"»\"
2 |L1,97) .



https://www.craftsmanspace.com/

Proj

ect from www.craftsmanspace.com

Lager seating set plan

Page 9 of 35

106,5 88
(1 4,19) (3,47)
«’o/ B I
R \ A p |
> Ay ] by Ay f
| o8 o3 |
‘ ‘ NGO, NGO, ‘
SECTION A-A
20 47,5 55 90 45 90 45 90 45 90 20
(0,79} { 1,57 } (2,17} {3,54) (1,77 ) (3,54) (1,77 ) {3,54) 177! (3,54 ) 0,78
o [ B L L
(S i " E |
! N Y ] i N S, _ Y T
7 ~| L/ 1
T o !
<= :
A A 1 A i
! ny | nY L
e 4 e las b 6 b
S| | | S+
82,5 148 279
({ 3,ﬁ5> (5,83} {10,98 |
740
{29,13 )
o) T T — o | T~ . .
~ Ve .
< 7 N Y M N Orill holes during assemblage
g /g / o \
S / 0o / ©S \
i = | e !
| / 7
B L 17. Table SUDDOFT
4 '
DETAIL B

DETAIL C

% \'L\



https://www.craftsmanspace.com/



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 11 of 35

80 . .
(3,15) Orill holes during usselinhluge (3,15 _(142) _

. S | S e —

2N

1300
- ( 51,18 |
R
Nﬂr
— O
)
SECTION A-A

14 Leg Support 1

3 .
(0,12) X45° Typ |\



https://www.craftsmanspace.com/

Page 12 of 35

Lager seating set plan

Project from www.craftsmanspace.com



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 13 of 35

Bench - Parts list

DETAIL B

DETAIL A

Ifem Title Material |Quantity | ~ Category
Number
1 [Big leg Wood 2.
2 |Leg Small Wood 4
3 |Bench Seat Plank Wood 2
4 |Bench Back Plank Wood 1
5 [Bench Back Plank Small  |Wood 1
6 |Wood Screw 04 570mm Steel 18 |Standard Part
7 |Bolt M8xB0mm Steel 4 |Standard Part
8  |Washer 8 Steel 4 |Standard Part
9 |Lock washer A8 Steel & |Standard Part
10 [Hexagon Nut M8 Steel 4 |Standard Part
11 |Leg Support Wood 1
12 |Bench Support Wood 2
B |Bench Support Mirror Wood 2
% [Bolt M6x90mm Steel 8  |Standard Part
5 |Washer 6 Steel 12 | Standard Partl
1% |Lock washer 6 Steel 12 |Standard Part|
17 [Hexagon Nut M6 Steel 12 |Standard Part|
18 [Axe Steel 2
19 [Wood Screw D&.5x55mm Steel 12 |Standard Part]

G



https://www.craftsmanspace.com/

Page 14 of 35

Lager seating set plan

1800
170,87 )

el ]

d ,wuvﬁ

I ¢ T
““““ e
S
-8 m

KKKKKKK - | 4
== - EEE:
-If s

Au”ﬁ FS

Project from www.craftsmanspace.com

Assembly drawing



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 15 of 35
431 239 331 R
116,96 ) 19.41) (13,03) ) A
\'oél)/
\’%
~
_ 3 |
5 58 e
z e D 84 G
23 « L83,
& S /’?%
vsé = &2
Res| e
% 5 5 Td NS

L
N,
O
\\, &
318
(1
14
(105!
AR}
wt%ou
A
Y
600
&0
90
(354)
600
04
S
®
T
i
i
T
]

507
(19,96 |

1. Big Leg

Sy

DETAIL A



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 16 of 35

464
S (18,28)
% 55 63
Y (2,18 ) (2,48 )
b, N N \
5 -l D D A
% v o8| 89 7250 O ( )
o QO — O g
(S o %] ) I S
N & N . . A e
oo Drill holes during assemblage &) »6’:’%\
518 e @
9
s 0) \0 ©
72 < 8 1 <
N e A N N N R N
_ -
/960; 7777777777
| [ ——
2
P
\ | |
QD [
N
328 65
(12,90 | { 2,57 )
586
(23,09 )

2. Leg Small



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 17 of 35

i 4
o~ -
-

N

3. Bench Seat Plank



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 18 of 35

DETAIL B

DETAIL C

1800
(70,87 )
220 A
(8,66 )

| !

r ‘ i
|
! ——
|
\
\

T L _

\
|
e
|
|
| A __! Drill holes during assemblage

L. Bench Back Plank

SECTION A-A



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 19 of 35

1800
(70,87 )

220
(8,66 )

A
3/

DETAIL B DETAIL C

Orill holes during assemblage



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 20 of 35

I#N\

3

N

(R

55
(2,17 )

(8s) Orill holes during assemblage

1550
(61,02 )

\
SECTION A-A

11. Leg Support



https://www.craftsmanspace.com/

Page 21 of 35

Lager seating set plan

Project from www.craftsmanspace.com

(¥L°0 !
mm.ov o5 X —um—w.m
1] %
N /A,\
&N mv - $
N .
(7¢0"
LD 56
X\\\\
XA
AN N R R > (M
&\, : . o N
o N\h ~Sl
) I N
0 i (1o 7
8l
N Y
/, 0 \AU
@) .
) X o o
. m\ N // .......... m.uZw
\\\\\\\\\\\ //V\\\\\Y/J\\\ // f{f o s
,,,,,,,,,,,,,,,,, N
0 N = P X &tm K
TSI T [ A — i
- - o 2
25 &3 s
= - oo
@ | <5
8 |x
|
5
X o
(261 |
e o mv S o Ee
n cn [T ~ ™
=
o =
[ a=)
= g LE
—J S
) o =
_ - e EEEEEEE = = A
- —
i — 03 - - . 5 NP
—
a o5l
RU < -
© C—r— ¢
N 3
1 =
(620 ) (60 )
[174 [174
(GL'E )
08



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 22 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 23 of 35

216
- | 8,50 | _
Thread M6 | Thread M6
7 ' <
10
N (0,39 ) n ( 3?39 )



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 24 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 25 of 35

Assemblage images

1. TABLE

q(;

1.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 26 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan Page 27 of 35

3.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan Page 28 of 35

4.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 29 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan

Page 30 of 35

2. BENCH

1.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 31 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 32 of 35



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 33 of 35

4.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com

Lager seating set plan Page 34 of 35

S.



https://www.craftsmanspace.com/

Project from www.craftsmanspace.com Lager seating set plan Page 35 of 35

-



https://www.craftsmanspace.com/

